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1} Complete the following syntheses in OT1E St'E:[J using any inorganic reagents vou necd and organic
reagent of 5 carbons or less. Show the number of equivalents of a reagent whenever more than one
equivalent is used. All ehiral prodoets are racemic mixtures. (3 points each).
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21 Provide the product and mechanism for the reaction shown befow. Be sure (o show all the intermediates
and all the arrows required for each step of the reaction (3 + 9 points),
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3 Provide the product and mechanism for the reaction shown below, Be sure o show all the intermediates
and all the arrows required for each step of the reaction (3 + 8 points),
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43 Provide the product and mechanism for the reaction shown below, Be sure to show all the intermediates
and all the arrows required for cach step of the reaction (3 + 9 poinis),
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5) Complete the syntheses shown below using erganic reagents of 5 carbons or less and any inorganic
reagents you wish. If vour synthesis requires more than one step, you must write the product of each step.
Show the number of equivalents of a reagent whenever more than one equivalent is used. All chival products
are racemic mixiures. (6 points each).
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5) Complete the following ONE St’E[] retrosynthetic analyses. Please indicate which bond you are
cleaving in the compound shown below by drawing u line through the bond thal you are breaking in your
retrosynthetic analysis, and then showing the starting materials and reagents you will need to make the
molecule. Whatever reactions you use must provide an alcohol as the product. All I want is one step, that's
all, just the last step you'd do in the synihesis & points each
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Extra credit: 5 points for up o 100 points total on the exam: Provide two more disconnections for this
molecule You must get this entirely right for credit, there is no partial credit on these, so don't ask! HINT:
The capital of Melaska is Lincoln,
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